T % 15 #H #; IE

1 HAPEEE S
B FE

BEER AA]

MERE SHISES5H18H KNEH 2KMRHE

ZRIDECAE Nol & No2 EEATDIIE

No( ) | K&

BldE Nol & No2 ZhR|4(CEUWNIDL,




Nol

No K&
Bl ROTOISLDDQEEZXIREU, "¥ n"(Hi%x

IDEDN (T% - $ir - 28]

#include <stdio.h>
int main(void)

printf("a=%d¥n b=%d¥n c=%d¥n",a,b,c);
return O;
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#include <stdio.h>
int main(void)

int a,b,c;
a=10;
b=6;
c=4,

a=a+b;
b=Db*c;
c=b+a/c;

printf("a=%d¥n b=%d¥n c=%d¥n",a,b,c);
return 0;
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#include <stdio.h>
int main(void)
int a, b, s, d;
sr=ll
a =5
b=1;
=S + a;
printf("1kaime no s = %d¥n", s);
s=s+1;
s=s+ 1;
s=84+ 1
paintf("Zkaime no s = %d¥n", s);
d=d -b;
printf("lkaime no d = %d¥n", d);
d=d-1;
d=d-1;
printf("2kaime no d = %d¥n", d);
} return O;
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#include <stdio.h>
int main(void)
int ten:
scanf( "@", &ten );
ifl @ >= ® )
printf(" &4& ¥n"):
else{
printf(" N51& ¥n");
}
return O:
@ ANS[ %d J@ANS[ ten I®ANS[ 70 ]
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#include <stdio.h>

Ent main(void)

1
float r,s,x;
printf("2 r =");
O("%f",2);

5=3.14%r"r;
x=2%3.14%r;
G("EmE s =%f¥n",s);
G ("MEE x=%f¥n"x);
return 0O;

}
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#include <stdio.h>
int main(void)
{
int n,s;
printf("n X TOMAERDH 2 70T L¥n"):
printf("nDEEAA");
@ ("%d",@n);
s=n/2*(1 +0Q);
printf("%d £ T = %d¥n", ®,®);
return 0O;
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